Rep 1

Rep 2

Rep 3

TAS

gRNA1

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

60 80 100

40

20 100

100

80

20

o

80 100

60

20

100

60

40

-

100

80

% R*=097
= p<0.001
= p=0.001

T T T T
-10 5 0 10
<~deletion  insertion-->

98 R?=1

m = p<0.001
= p20.001

13
T T T T
10 5 0 10
<-deletion  insertion-->
985 R*=0.99
= p<0.001
= p20.001
T T T T
10 5 0 10
<-~deletion  insertion-->
99.3 R?=0.99
= p<0.001
= p20.001
T T T T
-10 5 0 10
<deletion  insertion-->
06 R?=099
= p<0.001
= p=0.001
25
-
T T T T
-10 5 0 10
<-deletion  insertion-->

9 R%=0.99
= p<0.001
= p20.001

28

-
T T T T
10 5 0 10

<-deletion insertion-->

% of sequences.

% of sequences

% of sequences

% of sequences

% of sequences.

9% of sequences

100

80

40

100

60

100

80

20

100

20

100

60

20

100

40

<--deletion  insertion-->

927 R*=0.95
= p<0.001
= p20.001

T T T T
10 5 0 10
<-deletion  insertion-->

98.8 R?=0.99
= p<0.001
= p20.001

T T T T
-10 5 0 10
<-deletion  insertion-->

956 R?=0.97
= p<0.001
= p20.001

T T T T
-10 5 0 10
<~deletion  insertion-->

95.7 R?=0.99
= p<0.001
= p20.001

12
T T T T
10 5 0 10
<deletion  insertion-->

98.4 R?=0.99
= p<0.001
= p20001

T T T T
10 5 0 10
<-deletion  insertion-->

%83 R=1
= p<0.001
= p20.001

T T T T
-10 5 0 10

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

100

80

20

100

80

20

100

100

100

80

100

975 R?=099
= p<0.001
= p=0.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

922 R?=0.95
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

99.1 R?=0.99
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

976 R*=0.99
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<deletion  insertion-->

99.4 R?=0.99
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

98.1 RE=1

m = p<0.001
= p20.001

T T T T T
10 5 0 5 10

<--deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse



Rep 1

Rep 2

Rep 3

gRNA2

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

100

100

60

20

60

20

80

936 R*=0.99
= p<0.001
= p=0.001

23 14
T T T T
-10 5 0 10
<~deletion  insertion-->

952 R?=0.99
= p<0.001
= p20.001

1813 08
T T T T
-10 5 0 10
<-deletion  insertion-->

843 R?=097
= p<0.001
= p20.001

a2 2 82
Y e EE .
-10 5 0 10
<~deletion  insertion-->

856 R?=099
= p<0.001
= p20.001

a1 3 o
‘ - = EC .
-10 5 0 10
<deletion  insertion-->
2

74 R?=099
= p<0.001
= p=0.001

32
i T
-10 5 0 10
<-deletion  insertion-->
2

785 R?=099
= p<0.001
= p20.001

14
a2 [ 32
10 5 o 10

<-deletion  insertion-->

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

9% of sequences

100

80

100

100

40 60 80 100

20

100

100

<--deletion  insertion-->

99.1 R*=0.99
= p<0.001
= p>0.001

T T T T
10 5 0 10
<deletion  insertion->

93 R=1
» p<0.001
= p20.001

T T T T
-10 5 0 10
<--deletion  insertion-->

9%.6 R?=0.98
» p<0.001
= 20001

T T T T
-10 5 0 10
<--deletion  insertion-->

99.2 R?=0.99
= p<0.001
= p20.001

T T T T
10 5 0 10
<-deletion  insertion-->

99.1 R?=0.99
» p<0.001
= p20.001

T T T T
10 5 0 10
<--deletion insertion-->

989 R*=1
» p<0.001
= p=20.001

T T T T
-10 5 0 10

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

100

100

40

100

80

100

80

20

80 100

60

20

100

80

<--deletion  insertion-->

9.7 R*=0.98
= p<0.001
 p20001

2
T T T T
10 5 0 10
<-deletion  insertion-->

91.8 R?=0.95
= p<0.001
= p20.001

T T T T
-10 5 0 10
<-deletion  insertion-->

9.9 R?=0.99
= p<0.001
= p20001

23
T -_ T T
10 0 10
<-deletion  insertion-->

959 Ri=1
 p<0.001
= p20.001

31
T ' T T
10 5 0 10
<deletion  insertion-->

98.4 R?=0.99
= p<0.001
= p20.001

07
T T T T
10 5 0 10
<-deletion  insertion-->

97.3 R?=099
= p<0.001
= p20.001

13
T T T T
10 5 0 10

Forward Reverse Forward Reverse Forward

Reverse



Rep 1

Rep 2

Rep 3

gRNA3

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

100

40

100

40

80 100

60

100

80

40

100

40

100

60

95.7 R*=0.98
= p<0.001
= p=0.001

T T T T
-10 5 0 10
<~deletion  insertion-->

985 R*=0.99
= p<0.001
= p=0001

T T T T
10 5 0 10
<-deletion  insertion-->

9.4 R*=0.99
= p<0.001
= p=0001

T T T T
10 5 0 10
<-deletion  insertion-->
98 R®=0.99
= p<0.001
= p20.001
T T T T
-10 5 0 10
<~deletion  insertion-->

o9 R?=099
= p<0.001
= p=0.001

09 17
T T T T
-10 5 0 10
<-deletion  insertion-->

975 R*=0.99
= p<0.001
= p=0001

12
T T T T
10 5 0 10

<-deletion  insertion-->

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

9% of sequences

40 60 80 100

20

80 100

60

100

80

100

40

20

100

80

20

100

40

20

R?=095
= p<0.001
= p20001

<-deletion

insertion-->

R®=099
= p<0.001
= p=0001

<--deletion

insertion-->

R?=0.99
= p<0.001
= p20.001

<--deletion

insertion-->

R?=0.99
= p<0.001
= p20.001

<-deletion

insertion-->

R*=099
= p<0.001
= p20001

<--deletion

insertion-->

RP=1
= p<0.001
= p=0001

<--deletion

insertion-->

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

100

100

80

20

100

20

100

80

100

80

40

100

978 R?=1
 p<0.001
= p=0.001

09
T T T T
10 5 0 10
<-deletion  insertion-->

97.6 R?=0.99
= p<0.001
= p20.001

T T T T
-10 5 0 10
<-deletion  insertion-->

%82 R?=0.99
= p<0.001
= p20.001

T T T T
10 5 0 10
<-deletion  insertion-->

978 R*=0.99
= p<0.001
= p20.001

T T T T
10 5 0 10
<deletion  insertion-->

97.9 R?=0.99
= p<0.001
= p20.001

14
T T T T
10 5 0 10
<-deletion  insertion-->

97.4 RE=1
= p<0.001
= p20.001

14
T T T T
-10 5 0 10
<-deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse



Rep 1

Rep 2

Rep 3

TAS

gRNA4

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

40

60

20

60

100

60

40

100

80

40

779 R?=098
= p<0.001
= p=0.001

14.4
o
T T T T
-10 5 0 10
<~deletion  insertion-->

771 R*=0.99
= p<0.001
= p=0001

152
26 15 08 I 1.4
T T T T
10 5 0 10
<-deletion  insertion-->

886 R?=0.99
= p<0.001
= p=0001

34 1536
-
T T T T
10 5 0 10
<~deletion  insertion-->

89.1 R?=099
= p<0.001
= p20.001

41 539
. . | - .
-10 5 0 10
<deletion  insertion-->

96 R?=099
= p<0.001
= p=0.001

1317
T T T T
-10 5 0 10
<-deletion  insertion-->

952 R%=0.99
= p<0.001
= p=0001

08 2.1
T T — T
10 5 0 10

<-deletion  insertion-->

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

9% of sequences

100

100

40

60 80 100

40

100

80

40

80 100

60

100

952 R?=099
= p<0.001
= p=0.001

16 25
-
T T T T
10 5 0 10
<-deletion  insertion-->

945 R*=0.99
= p<0.001
= p=0001

26
-
T T T T
-10 5 0 10
<-deletion  insertion-->
97 R*=0.99
= p<0.001
= p20.001
T T T T
-10 5 0 10
<~deletion  insertion-->

97.9 R?=0.99
= p<0.001
= p20.001

13
T T T T
10 5 0 10
<deletion  insertion-->

97.2 R?=0.99
= p<0.001
= p20.001

15
T T T T
10 5 0 10
<-deletion  insertion-->

97.1 R?=0.99
= p<0.001
= p=0001

12
T T T T
-10 5 0 10
<-deletion  insertion-->

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

100

60 80

40

80 100

60

100

80

100

100

936 R*=0.99
= p<0.001
= p=0.001

16 26
T - T
10 10
<-deletion  insertion-->

88.4 R*=0.96
= p<0.001
= p20.001

45
T - T
-10 10
<-deletion  insertion-->

96.4 R*=0.99
= p<0.001
= p20.001

13
T T
10 10
<-deletion  insertion-->

972 R*=0.99
= p<0.001
= p20.001

15
T T
10 10
<deletion  insertion-->

9.1 R?=1
= p<0.001
= p20.001

T T
10 10
<-deletion  insertion-->

976 RE=1
= p<0.001
= p20.001

T T
-10 10
<~deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse



Rep 1

Rep 2

Rep 3

TAS

gRNAS5

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

60

60

40

40

80

20

60

2
63 R?=098
= p<0.001
= p=0001
125
7
5 38 57
-10 5 0 10
<~deletion  insertion-->
R?=099
97 = p<0.001
= p20.001
1456
69
59 4, 65
13
10 5 0 10
<-deletion  insertion-->
2
765 R2=0.98
= p<0.001
= p20.001
92
49934 mmay
-
T T T
-10 5 0 10
<~deletion  insertion-->
828 R?=0.99
= p<0.001
= p20.001
77
34 19 4 19
- -—
T ' T T
-10 5 0 10
<~deletion  insertion-->
858 R2=0.99
= p<0.001
= p20.001
48 39 44
EE— - .
-10 5 0 10
<-deletion  insertion-->
835 R?=099
= p<0.001
= p20.001
66 a5
L~ B =mm i
10 5 0 10
<-deletion  insertion-->

% of sequences

% of sequences

9% of sequences

% of sequences

9% of sequences

9% of sequences

20

60

20

80

40

40

20

89.4 R*=0.98
» p<0.001
= p>0.001
11 47 22
T T e T T T
10 -5 0 5 10

<--deletion  insertion-+>

83.1 R®=099
= p<0.001
= p=000t

74
1531 gdd
ﬁ——¥. T T T
10 5 0 5 10

<--deletion  insertion-->

83 R?=098
= p<0.001
= p20.001

53
16 3 15 3
-
T T T
10 5 0 5 10

<--deletion  insertion-->

77 R?=099
= p<0.001
= p20.001

T T
5 10
<deletion  insertion-->
2

787 R?=099
= p<0.001
= p20.001

7 72
57 24 27.

T T T T T
10 5 0 5 10
<-deletion  insertion-->

o

748 R=099
= p<0.001
= p20.001

63 73
27 11 36 3
*———-v-.'-'-. T T T
10 5 0 5 10

<--deletion  insertion-->

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

60

40

20

20

80

80

40

60

3.1 R?=095
 p<0.001
= p=0.001

N 32 47
T T ——- T T
10 5 0 5 10

<--deletion  insertion-+>

82.7 R?=097
= p<0.001
= p=0001

28 43 54
T ' T T T
10 5 4 5 10

<--deletion  insertion-->

79.4 R?=0.99
= p<0.001
= p=0001

54
2 2121 %828

T T T T T

10 0 5 10
<-deletion  Insertion-->
e
129 R2=099
 p<0.001
= p20.001
58
a1 29 32 °° 5883
T ' T T T
10 5 0 5 10
<-deletion  insertion-->
2
789 R2=099
— = p<0.001
= 920001
65 81
T - T T T
10 5 0 5 10
<-deletion  Insertion-->
2
752 R2=099
= p<0.001
= p20001
82 96
38 4,
T T T
10 0 5 10

<--deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse



gRNAG

TAS 4AL 7DS

100

60

% of sequences

Rep 1

100

% of sequences

100

80

% of sequences

20

Y Y E— |

Rep 2

80

% of sequences

20

—

100

60

—

% of sequences.

% of sequences
40 60 80 100

20

923 R?=0.95 . 99.2 R*=0.99 s 98 R=099
« p<0.001 g4 u p<0.001 e u p<0.001
= p20.001 = p20.001 = p20.001
g 3
8 8
§ §
§ 3 - s 8
g g
® 9 2 2
< 4 g
8 8
T T T T T o T T T T ° T T T T T
-10 5 0 5 10 10 5 0 5 10 10 5 0 5 10
<-~deletion  insertion-> <deletion  insertion-> <-deletion  insertion-->
993 R?=0.99 8 4 942 R?=0.99 s 95.9 R?*=0.97
= p<0.001 ® p<0.001 - ® p<0.001
= 20001 = 20001 = p20001
ES 8
HER HE
g g
5 o | 3 9
2 ¥ = 9
&7 ]
T T T T T ° - T T T T ° T T T T T
10 5 0 5 10 10 5 0 5 10 10 5 0 5 10
<-deletion  insertion--> <-deletion  insertion--> <-deletion  insertion-->
983 R?=0.99 ° 985 R=0.99 o 9.1 R*=0.99
= p<0.001 217 » p<0.001 -4 » p<0.001
= 20001 = 20001 = p20001
S 8
g 84 g 8
g 1]
5 s
EE | B
& ]
T T T T T ° - T T T T ° T T T T T
10 5 0 5 10 10 5 0 5 10 10 5 0 5 10
<~deletion  insertion--> <-deletion  insertion--> <-deletion  insertion-->
986 R*=0.99 ° 98.7 R*=1 o 99.4 R*=0.99
= p<0.001 27 = p<0.001 e = p<0.001
= p>0001 = 20001 = p20.001
g 4 3
8 8
g 3 3 3
i 1]
s s
> 94 ° e
® 9 -
g 4 g
8 8
T T T T T ° - T T T T ° T T T T T
-10 5 0 5 10 10 5 0 5 10 10 5 0 5 10
<~deletion _ insertion-> <-deletion  insertion-> <-deletion  insertion->
8 2
983 R?=0.99 ° 987 R?=0.99 2 915 R?=0.93
» p<0.001 21 » p<0.001 = p<0.001
= p20.001 = p20.001 = 20001
8
g 4
] g .
g g 3
g 8 g
g §
S e e
# 9 ®
< 2
& <
T T T T T o T T T T ° T T T T T
-10 5 0 5 10 10 5 0 5 10 10 5 0 5 10
<-deletion  insertion--> <-deletion  insertion--> <-deletion  insertion-->
995 Ré=1 s _ 98.4 RP=1 s 98 R?=099
= p<0.001 = = p<0.001 = m = p<0.001
= 20001 = 20001 = p20001
g 8
N s
£ ]
s s
£ 2 ® 9
g 4 2
8 <
T T T T T ° - T T T T ° T T T T T
10 5 0 5 10 10 5 0 5 10 10 5 0 5 10

<-deletion  insertion--> <--deletion  insertion--> <--deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse




Rep 1

Rep 2

Rep 3

TAS

gRNA7

4AL

7DS

% of sequences

% of sequences

% of sequences

% of sequences

% of sequences.

% of sequences

100

80

20

-y

100

80 100

60

80 100

40 100 60
T T H

—

100

60

07 R?=099
= p<0.001
= p=0.001

32
-
T ' T T
-10 5 0 10
<~deletion  insertion-->

96.4 R%=0.99
= p<0.001
= p20.001

29
-—
T ' T T
10 5 0 10
<-deletion  insertion-->

963 R®=0.99
= p<0.001
= p=0001

2.1 09
T T T T
10 5 0 10
<-deletion  insertion-->

965 R®=0.99
= p<0.001
= p20.001

18 07
T T T T
-10 5 0 10
<~deletion  insertion-->

976 R?=099
= p<0.001
= p=0.001

0.9
T T T T
-10 5 0 10
<-deletion  insertion-->

976 R=1
= p<0.001
= p20.001

12
T T T T
10 5 0 10

<-deletion  insertion-->

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences.

9% of sequences

100

80

40

100

60

40

100

100

100

20

100

<--deletion  insertion-->

98.1 R*=0.99
 p<0.001
= p=0.001

T T T T
10 5 0 10
<-deletion  insertion-->
o7 Ri=1
= p<0.001
= p20.001
12 1
T T T T
-10 5 0 10
<-deletion  insertion-->

9.5 R*=0.99
= p<0.001
= p20.001

23
T —_—— T T
-10 5 0 10
<-deletion  insertion-->

948 Ri=1
= p<0.001
= p20.001

22 09
T T T T
10 5 0 10
<-deletion  insertion-->
99 R*=0.99
= p<0.001
= p20.001
T T T T
10 5 0 10
<-deletion  insertion-->

978 R=1
= p<0.001
= p20.001

T T T T
-10 5 0 10

% of sequences

% of sequences

9% of sequences

% of sequences

% of sequences

% of sequences

100

80

100

60

20

100

60

40

100

80

20

100

100

80

9.1 R*=0.99
= p<0.001
= p=0.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

925 R?=0.95
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

9.1 R?=0.99
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

995 RE=1
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

97.6 R?=0.98
= p<0.001
= p20.001

T T T T T
10 5 0 5 10
<-deletion  insertion-->

%87 R?=099
= p<0.001
= p20.001

T T T T T
10 5 0 5 10

<--deletion  insertion-->

Forward Reverse Forward Reverse Forward

Reverse



